
1) 48 ÷ 3

Answer: ____________

2) 225 ÷ 15

Answer: ____________

3) 80 ÷ 10

Answer: ____________

4) 9 ÷ 3

Answer: ____________

5) 1700 ÷ 100

Answer: ____________

6) 81 + 88

Answer: ____________

7) 110 ÷ 11

Answer: ____________

8) 10 + 24

Answer: ____________

9) 24 ÷ 2

Answer: ____________

10) 48 ÷ 16

Answer: ____________

11) 13000 ÷ 1000

Answer: ____________

12) 80 ÷ 10

Answer: ____________

13) 40 ÷ 10

Answer: ____________

14) 190 ÷ 10

Answer: ____________

15) 17000 ÷ 1000

Answer: ____________
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16) 58 + 56

Answer: ____________

17) 130 ÷ 10

Answer: ____________

18) 83 + 94

Answer: ____________

19) 30 + 58

Answer: ____________

20) 97 + 57

Answer: ____________

Total: ___ / 20
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Answers:

1) 16 2) 15 3) 8 4) 3 5) 17 6) 169 7) 10

8) 34 9) 12 10) 3 11) 13 12) 8 13) 4 14) 19

15) 17 16) 114 17) 13 18) 177 19) 88 20) 154
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